NEBORMTEMERT AENR TS

REFHET  /NEPRER

= EFHT



MERMTEX

L HE
TI7&E - f&ER ithalll R HAL
L))
+T
RIE m3 280
BRL m3 200
R m3 60
EmEIF m2 27
EEr
EREET B4 75wy v—F>RC-40 t=10cm m2 106
2T KSR E T
v s — fFTRES 40m3 £ 1
T B Ak oA m
& 2wy bk
H@ta o) —+ |[18-8-40BB t=15cm m3 5
A Higar o) — m2 9
B Ay BE 7 7vv—72RC-40 t=20cm m?2 27




HEEFE

+T
RYE
3 4.00
6
BRL
3 4.00
6
V= 10.30
V= 12.60
V= 276.7
LR
V= 276.7
HEmEEIE
A= 3.81
T

x (12.60

X

12.60

X

X 6.60

x 8.40 x

- 68.0 -

XKIBHRIE =

- 1981/

x 7.01

4.40

8.60

4.40

8.60

0.10

10.6

0.9

BE77v>¥v—72RC-40 t=10cm

A=

12.60

x 8.40

+ 8.60

x 4.40

+ 8.60

x 4.40

(RC-40)

8.40

12.60 x 8.40

8.40

12.60 x 8.40

)

)

276.7

68.0

10.6

276.7 m3

198.1

m3

56.6 m2

26.7 m2

105.8 m2



M AT KRR E T

av o — FREMETKE  40m3

N =

HEEarsy—+§
V= 7.01 x
V= (150 x

3.81
1.50

B (BE#ar7U—h)

A= 0.15 x 7.01
A= 0.15 x 3.81
A= 1.20 X 0.55

ERMA B4E77viv—7RC-40 t=20cm

A= 381 X 7.01

X

X

X

X

it

t=15cm 18-8-40BB

0.15
1.20

X

2wk

x 1.20)
0.55 x

X 2

= 1 =
= 4.0
= 0.9
= 49 m3
2.10
1.14
5.28
= 8.5 m2

26.7 m2



